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QUESTION 1

Given:

public class Main {
public static void main(String[] args) {
for(int 1 = 0; 1 < args.length; i++) {
System.out.println(i + "). ™ + args[i]):;
switch(args[i]) {

L1 L]

CcCase one 3
continue;

case "two":
1——7
continue;

default:
break;

executed with this command: java Main one two three What is the result?
A. 0). one

B. 0). onel). two2). three

C. The compilation fails.

D. It creates an infinite loop printing:0). onel). twol). two...

E. A java.lang.NullPointerException is thrown.

Correct Answer: D

QUESTION 2

Given:

public interface ExampleInterface{ }

Which two statements are valid to be written in this interface? (Choose two.)

A. public abstract void methodB();
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B. final void methodG(){System.out.printin("G");}
C. private abstract void methodC();

D. public String methodD();

E. public int x;

F. final void methodE();

G. public void methodF(){System.out.printin("F");}

Correct Answer: AD

QUESTION 3

Given:

var fruits = List.of("apple"”, "orange", "banana", "lemon");

You want to examine the first element that contains the character n. Which statement will accomplish this?
A. String result = fruits.stream().filter(f > f.contains("n")).findAny();

B. fruits.stream().filter(f > f.contains("n")).forEachOrdered(System.out::print);

C. Optional result = fruits.stream().filter(f > f.contains ("n")).findFirst ();

D. Optional result = fruits.stream().anyMatch(f > f.contains("n"));

Correct Answer: B
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1 import jawva.io.®;
2 import java.util.®;
3 - public class abec {

4~ public static void main(String[] args) {

5

6 var fruits = List.of("apple”, "orange", "banana”, "lemon"):

i

B fruits.stream().filter(f -> f.contains({"n")).forEachOrdered(System.out::printl;
9
18 }
17 3}
12

JOK 11.0.4 W Interactive Stdin Ing

CommandLine Arguments

b Emut- e

Result
CPU Time: 0.19 sec(s), Memory: 33200 kilobyte(s)
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QUESTION 4

Given:

public class Tester

public static void main(String[] args) {

String 5 = "hat at store";
int x = s.indexOf ("at"):
s.s5ubstring({x + 3);
®x = s.indexOf ("at");
System.ocut.println(s + " " + x);

What is the result?
A. An indexOutofBoundsException is thrown at runtime.

B. Atonce O
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C. Hat at store 4
D. Atonce 1
E. Hat at store 1

Correct Answer: E

QUESTION 5

Given:

int arr[1[] = {{5,10},4{8,12},(9,3}}:
long count = Stream.of (arr)
.flatMapTolnt (IntStream: :of)
map(n —> n + 1)
Filterin —> [ % 2 = 0})
.peek (System.ocut: :print)
.ceunt {} ;
System.out.println(™ ™ + counz):;

What is the result?
A. 6910 3

B. 10126 3

C.3

D. 6104 3

Correct Answer: D
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